./Algebra 2 Honors
WS: Chapter 6 Review
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gﬁn I: Graphing
Graph each function.
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Part II: Problem Solving it ) 5 units UP.
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9. The graph of f(x) is shown below. If g(x) = -fix) + 1, what is g(2)?
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Letﬂxl=x—-23ndg{x]=}—sﬁ. 70.*’—;"!0*_1;-4‘7/
& Find f(g(-2)) and g(f(-2)). 17. Find f{g(1)) and g(f(1)).
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18. Find g(f(x)) and state its domain, 19. Find f{g(x)) and state its domain.
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In 20 - 23, find the inverse of each function. Determine whether the inverse is a function, and
state its domain and range. 0. g 70 #2 7-30
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In 24 - 25, determine by composition whether each pair of functions are inverses. _p. G ZF* L34
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26. The table shows some values for the function £. What is the value of £'(-2)? 2 o4 734,
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